s F ]
e A S S S [ 0.014
%_016:_ .................................................................. 7
¥ - 0.012
%014_— """""""""""""""""""""""""""" .
T s e 0.01-

0.02f -+ 0.008
0.008 i 0.006 - .

0.006 4= ] LT
r 0.004

0.004 i i

O 002:_ ______________ 0002 —

J_.bOEIJi-IIIIiII |!||||:||||: B
gop i AP NP
o 1'_ _______________________ —e— DQM_| mkF|t5 _TT_retrainOldFiles125_v2_prelimWP_epoch4

L —— DQM_mkFit_TT_baseline_6iter

- —— DQM mkF|t6 TT retrainOldFiles125_v2_ prelimWP_epoch4
0.95Lx i I

2.5 3 3. 5 4 4. 5 5 5. 5 6 6.5

Efficiency vs. cut on dz(PV)

0.6

0.5




	Contents
	Page 1


